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@ \00"’\4 Question 13-There are five consecutive even numbers. Each number
1s multiplied by 2 and then _@@_f @ 1s added to first, second,
@ /QLUJ‘?%‘CI = % third, fourth and fifth number respectively. The new average of the
Ty % el =2x five numbers is@Lmore than the original average. What 1s the
largest number?
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Questlonl p = 1296
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Question 4- 4, 4.8, 6.6, 9.6, 14, 20, ?
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Question 6- 100, 88, 64, 28, -20, ?
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@ The given line graph shows average number of product P and Q
manufactured and difference between the number of product(P and Q)

manufactured.
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Question 7- What 1s the ratio of number of product P and Q

manufactured in department A.
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@ 30 Question 8- In department B the product P is either good or
damaged. If the ratio of good to damaged product in P 1s 5:7.

@ 'P+& = 360 Then find damaged product of P.
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Question 9- The P type product manufactured in department C

1s what percent of sum of product manufactured in department
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30 Question 10- In department C if the cost of P type product 1s Rs
12000 and that of Q 1s Rs 64000. If 50% of P type product 1s
sold at Rnd 30% of product Q 1s sold at Rs 28800.
Then find difference of there profit percent.
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Question 11- The cost price of a table 1s Rs 500 and the seller A
marked the pride 40% gbove the cost price and sold it after
giving to successive discount of 15% and I@ While seller B
promises to sell at a single discount of 21%. Find the difference
between selling price of both seller.
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Question 12- P can complete 40% of work 1in 24 days while Q
takes 15 days more to complete the same work. Q and R can do

the same work 1n 50 days. In how much time R alone can do the

same work.
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Question 13- A person usually travel with a speed of 30 km/hr
0 G00X™ flom point P to Q. On Monday he travel 25% of the distance
0(\{\(\ with 40% of usual speed. The remaining distance 1s covered at

double of the previous speed so it takes 2.5 hour more tan

A. 130079 usual. Find the distance between P and Q.
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Question 14- The average of a group of 15 members 1nitially
increases from 60kg to 65 kg when A, B and C join the group. The
weight of A, B and C are 1n the ratio 4 : 3 : 2. What 1s the difference
between weight of A and B?
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60 kg
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90 kg
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